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== 60,000
02 QI2tH APAIY B X 120,000 120,000 0
OFUFE=EE A (=242 HEH) 120,000
= 60,000
== 60,000
ESAXNELEIF(HECXF)(=Z1) 190,000 1,292,000 A 1,102,000
Fag 190,000
403 XX S M S K201 A 190,000 1,292,000 A 1,102,000
fag 190,000
01 AIXISHHMA2E X 190,000 1,292,000 A 1,102,000
OsEszXEld SXF) 190,000
Fag 190,000
SETAXNE L (LR 1) 11,559,000 8,943,000 2,616,000
g 11,559,000
403 XX SHHE X201 A 11,559,000 8,943,000 2,616,000
g 11,559,000
01 XX A28 & 11,559,000 8,943,000 2,616,000
oOsEsaNgd X F) 11,559,000
Fag 11,559,000
HIOIS MHIA HE ZA( 105,000 0 105,000
Fag 105,000
403 XX S M S K201 A 105,000 0 105,000
hag 105,000
01 AEXISHHMA2E X 105,000 0 105,000
OHIDIE MHIA A 24 105,000
g 105,000
|22 (21) 1,001,000 1,043,000 N 42,000
fag 1,001,000
308 XX S SO0lA 1,001,000 1,043,000 N 42,000
Fag 1,001,000
01 XS HIBABEEXS 1,001,000 1,043,000 N 42,000
OANZS 23 1,001,000
hag 1,001,000
S&E MNEH ZHAAY (2 8,330,000 9,310,000 980,000
g 8,330,000
403 MR SHHS K20l A 8,330,000 9,310,000 A 980,000
g 8,330,000
01 AIXSHMA=2E X 8,330,000 9,310,000 980,000
OsE&E dNg" 2 8,330,000
Fag 8,330,000
| ZMENESHE(Z21D) 8,482,000 4,457,000 4,025,000
Fag 8,482,000
403 XHXI EHH S X2 0] 8,482,000 4,457,000 4,025,000
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2N s3Y
A YAsENY 2H(sEHLHa/sY - 55)
G sEXNY g (e &
SN -EB .S (SH) - NEAY - BES O &k 2 b HZE2
f=s 8,482,000
01 AIXISHHMA2E X 8,482,000 4,457,000 4,025,000
OJ=ZMEHE=RH 8,482,000
rag 8,482,000
SESEENY 245 I|(=21) 1,070,000 1,124,600 A 54,600
= 535,000
== 535,000
307 212t01 & 1,070,000 1,124,600 A54,600
= 535,000
== 535,000
02 QI2ZHE A AL B X 1,070,000 1,124,600 A 54,600
O=sZs=sgdy 2483 N 1,070,000
= 535,000
== 535,000
SERSANEE2 HATIANE (=) 135,000 0 135,000
= 135,000
403 XX EH S K20l & 135,000 0 135,000
= 135,000
01 IXSHMA=2E X 135,000 0 135,000
OSERFANEEE HLX ALY 135,000
= 135,000
SETHM SAMXRAANS(ZD) 120,000 0 120,000
= 60,000
== 60,000
307 Q120 & 70,000 0 70,000
= 35,000
== 35,000
02 QI2HH APAIY B X 70,000 0 70,000
O=Z= MM SAX A 70,000
= 35,000
== 35,000
308 XX SHHMSO0IA 50,000 0 50,000
= 25,000
== 25,000
M BI2SHUHSEAERAE ALY 50,000 0 50,000
OssZE MM AKX JAAS 50,000
= 25,000
c 25,000
HESAAH (sE W) (IIEH/DIIE 62,506 60,770 1,736
Jl=2& bl 62,506 60,770 1,736
EA2Y 28| 62,506 60,770 1,736
201 LBt A H| 42,130 40,736 1,394
01 A2 22| HI 42,130 40,736 1,394
OFEMSY AR 22/ 42,130
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Off &F 4

2

=
P

9,576

9,234

01 =LA HI

SN2y =2

9,576
9,576

9,234

10,800

10,800

6,600,000

350,000& =128

6,600
6,600
4,200
4,200

6,600

4,200
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